Efficiency vs dr

r 12
g
%
>
> 1
8
c
@
o
£ 0.8
[)

0.6

0.4

0.2
o (Op
= —s— DQM_CKF_TTbarPU
& 1.0sHll:| —— pQ_mkrit_TTbarPu

—— DQM_mkFit_TTbarPU-clonerfix2
T |||||l TR T3 T
AN
LD
0.95M i | LR
107 1072 0

0.5

, Jet

P
o 2
© »
» O

0.35

o
w

0.25

etticiency vs AR(T

I
[N

0.15
0.1
0.05
Vel

Ratio
N

0.95

=
o

w

107 107t
AR(TP, jet)

Efficiency vs pu

0.5
0.45

0.35

etficiency vs PU
o
D

o
w

0.25
0.2
0.15
0.1

..........

.......................................

Ratio

80 100 120 140
Pileup



	Contents
	Page 1


